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QUESTION 1

A customer is upgrading an existing ERS 8610 with the 8692SF to software version 7.x. Which statement regarding the
upgrade is correct? 

A. The customer must upgrade the 8692SF to an 8893SF for software release 7.x. 

B. The customer can run 7.x with the existing 8692SF, although some features will be disabled. 

C. The customer can add the SuperMezz module to the 8692SF and run release 7.x. 

D. The customer must upgrade to an ERS 8810 chassis to run software release 7.x. 

Correct Answer: C 

 

QUESTION 2

Based on the command line output shown in the exhibit, how many Gigabit Ethernet ports are available on this Ethernet
Routing SwitchlT (ERS) 8600? 

A. 16 

B. 24 

C. 26 

D. 28 

Correct Answer: A 

 

QUESTION 3
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Which two functions describe VPFM? (Choose two.) 

A. It is a network health at a glance tool. 

B. It can correlate faults, traps, and provide notification. 

C. It is another term for the SNM credential. 

D. It is a device configuration tool. 

Correct Answer: AB 

 

QUESTION 4

In a multicast campus, when should an ERS 8600 PIM interface be configured to run in passive mode? 

A. When the interface is used as an edge interface and is aggregating traffic. 

B. When the interface is used as a core interface and needs to limit PIM messages to reduce the system load. 

C. When there are no unicast routing paths. 

D. When more than one unicast routing protocol is in use. 

Correct Answer: A 

 

QUESTION 5

The goal of the Converged Campus architecture is to provide a highly reliable infrastructure with subscribed failover
preventing any interruption of traffic on the network? What are the two primary benefits of this design goal? (Choose
two) 

A. In the event of a failure, no less of connectivity or application availability will be experienced by the end user. 

B. This architecture provides high performance Layer 3 switching, resiliency, security, and services. 

C. This design goal provides numerous connectivity options including Asynchronous Transfer Mode (ATM), Packet over
SONET (POS), and 10 Gigabit Ethernet. 

D. The design goal provides the ability to provide hitless software upgrade for the core of the network. 

Correct Answer: AD 
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